il ] SECTION 1A: REMOVE OEM FENDER (2014-2017MODEL)

IMPORTANT NOTE: if your bike is a 2018+ model, skip to section 1B / page 4

STEP1: Remove pillion seat (keyhole on left side of body)
STEP2:Remove riders seat

2 x 5mm allen bolt

INSTALLATION MANUAL
YAMAHA MT-07 /FZ-07 2014+

INCLUDED IN KIT:

TAIL TIDY BRACKET
2XINDICATOR SPACERS
3XPLASTICRIVETS

TOOLS REQUIRED:
4,5AND 6MM ALLEN KEY
8MM SOCKET

PHILLIPS HEAD SCREWDRIVER

@ Fold corner of seat padding to
access bolt

® 2 x Phillips head screw

® 2 x 4mm Allen bolt
® 2 x 8mm Hex bolt
® 2 x 6mm Allen bolt




STEP5: Remove brake light trim

2 x Phillips head screw

® 6 x Plastic rivets

© Push centre to release then
pull down to remove

@ Pull side cover outward to detach from rubber grommet
® Slide side cover rearward to remove from bike

STEP8: Unplug electrical connectors

3 x Connectors for rear
indicators and licence plate
light

® 4 x 8mm Bolts
/\ Set asside for later use



SECTION 1B: REMOVE OEM FENDER (2018 + MODEL)

STEP1: Remove pillion seat (keyhole on left side of body)

STEPemove metal panel

Pull reward and up to remove

® 2 x 5mm allen bolt

STEP4: Remove side cover fasteners

® 6 x 4mm Allen bolt

® 4 x 12mm Hex bolt

STEP5: Remove Under Tray Fasteners

® 5 x Plastic Rivets

© Push centre to release

STEP6: Remove Side Covers
r

Pull outward to release from rubber grommet. This will expose the
OEM fender mounting bolts

© The 2014-17 model is pictured however the grommets are in a similar
location

STEP7: Remove OEM Fender

® 4 x 8mm Bolts
/\ Set asside for later use



SECTION 2: OEM FENDER DISASSEMBLY

™

©® Completely disassemble entire OEM fender by removing all fasteners

® Set asside indicators and retaining clips for later use
® Set asside licence plate light, washers and nuts for later use

SECTION 3: RENKEN TAIL TIDY ASSEMBLY

STEP1: Fit licence plate light

® Use retained nuts and washers from Section 2

STEP2: Fit indicators

Fit provided indicator spacers to indicators
@ Fitindicators to tail tidy using hardware from Section 2

6

STEP3: Attach tail tidy to bike using 8mm bolts from Section 1 Step 9
STEP4: Fit licence plate to tail tidy

STEP5: Feed wiring back into bike and reconnect connectors

STEPB: Reinstall side panels and under tray

IMPORTANT NOTE:

When reinstalling the under tray, on some bikes the OEM plastic rivets may be difficult to fully
engage. We have supplied additional plastic rivets in this kit to use for a more secure fit.

If the OEM plastic rivets provide a secure fit, disregard this note.

® 1 x Ribbed Rivet
© Ribbed Rivet only goes through under tray

® 2 x Push Rivet
O Push Rivets go through both the side cover and under tray

STEP7: Reinstall trim pieces and seat

INSTILLATION COMPLETE!



